R26...Direct and Inverse Proportion Problems
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(b) In this table y is directly proportional to x.

X 16 24
y 36 b

Calculate b.
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(b) In this table y is directly proportional to x.

; 36 b
Calculate b. % ‘3
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9 (a) Convert 485cm to metres.

(b) (i) Zarasays
10 litres = 18 pints.

Use Zara’s conversion to convert 25 litres into pints.



Created by W Neill

(i) Jacob says
5 miles = 8 kilometres.

Use Jacob’s conversion to convert 44 kilometres into miles.

(1) YOO miles[2]



(a) Convert 485cm to metres.

»OOCM = /WL

(b) (i) Zarasays
10 litres = 18 pints.

Use Zara's conversion to convert 25 litres into pints.
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(i) Jacob says
5 miles = 8 kilometres.

Use Jacob’s conversion to convert 44 kilometres into miles.

| Sm:les = g Km
. g VSmiles Ly fm U ) ‘
A g LFM(M)K” (ii)....Z.7 )

ARES miles[2]




(b) yis inversely proportional to x.
X=5wheny=12.

Work out y when x = 20.
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(b) vy roportional to x.
X=5wheny=12.

Work out y when x = 20.
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7

(a) Write the following ratios in their simplest form.

(i) 6:8

(a)(i)
(i) 600m : 1.5km

(ii)

(b) 64 pens cost £5.76.

How much would 80 of these pens cost?

(b)

Created by W Neill

.......................................................

.......................................................
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7 (a) Write the following ratios in their simplest form.

(i) 6:8

(i) 600m : 1.5km
eé}z{m | Sé{d’f
615

(b) 64 pens cost £5.76. Z S

How much would 80 of these pens cost?
[
tpers = £S.76

pen = fooa - £ /.70
%OP@{TS:: (b) £
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5 (a) (i) Three people type 3600 labels in 8 hours.

How many hours should it take four people to type 3600 labels?

ARE senne R hours [2]

(ii) Give a reason why it may take a different time than you found in part (a)(i) to type the
3600 labels.

-------------------------------------------------------------------------------------------------------------------------------------------
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(@) (i) Three people type 3600 labels in 8 hours.

How many hours should it take four people to type 3600 labels?
2 peple = R hous )
5 ( ] persen = Wy howes
) .
X\ ) L\ Peop}z_ {) L\Ouf’i

@i oo O hours [2]

(ii) Give a reason why it may take a different time than you found in part (a)(i) to type the
3600 Iabels
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(a) Harry needs dollars to go on holiday.
He can buy $50 for £40.

How much will $720 cost at the same rate?

Video created by W Neill
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) ) Video created by W Neill
(b) Tony returns from holiday with these notes.

Note | ot otes
€50 2
€20 4
€10 9
€5 12

The exchange rate is £1 = €1.17.

Work out how much he will get in total when he changes these notes.
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(a) Harry needs dollars to go on holiday.

He can buy $50 for £40.

How much will $720 cost at the same rate?
o $50 - 6o
N ﬂ) | = 0RO
XWO@ § 720 =257 L

)sso
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(b) Tony returns from holiday with these notes.

Neits Number
of notes
€50 2 = €00

€20 4 - € 50
€10 9 2ae S0
€& x 12 | =£ LO

= B0

The exchange rate is £1 = €1.17.

Work out how much he will get in total when he changes these notes.
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(a) Grapes cost £2 per kilogram.

Calculate the cost of 3809 of grapes.

Video created by W Neill
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10004

11 (a) Grapes cost £2 per kilogram.

Calculate the cost of 3809 of grapes.

%/ 7 = (000 (i\)
~1000
A%OOOQ - (Cj - @ £ 076 .............................. 2]
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17 (a) The scale of a map is 1cm represents 25m.
(i) The length of a path is 240 m.

Work out the length, in centimetres, of the path on the map.

(@)I) oo cm [1]

(ii) The scale 1cm represents 25m can be written in the form 1 : k.

Find the value of k.
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17 (a) The scale of a map is 1cm represents 25m.

(i) The length of a path is 240 m.

Work out the length, in centimetres, of the path on the map.

Q.6 ( shd Dx%
= = 7U0m (a)i) 15 -

(ii) The scale 1cm represents 25m can be written in the form 1: k.

\Cm = ZSOOCW\

Find the value of k.



16 Donald swims 3 lengths of a swimming pool in 93 seconds. Created by W Neill

(a) Use this information to show that he could swim 100 lengths in under 55 minutes. [4]

(b) What assumption did you make in part (a)?

(c) Donald tries to swim the 100 lengths in under 55 minutes.

Suggest one reason why he might not achieve this.

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo



16 Donald swims 3 lengths of a swimming pool in 93 seconds. 60 e - !m:ﬁc'"e“’fed by W Neill

(a) Use this information to show that he could swim 100 lengths in under 55 minutes. [4]

- gl@“jt(’\S = ‘fg seconds ;,g
-2 g ”e"’j““ ® S‘é’(ond52 ' ___'_3_!92 - €| b

o,
AlPO J \OO |€l\jn\5 - 3)00 Secends

(b) What assumption did you make in part (a)? b J 'Drwu\ < 5 bm:q

...... ﬂnk@a{k(@n\jﬂqusSme#%mepwe

(c) Donald tries to swim the 100 lengths in under 55 minutes.

Suggest one reason why he might not achieve this.

” N]Gj 3 ( I O{ 1}7@ W7 Q })e d @'S
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(b) 80 employees travel to work by car.
Work out the number of employees who cycle to work and the number of employees who

walk to work.

This pie chart shows how the employees of a business travel to work.

Not to scale

Created by W Neill



(b) 80 employees travel to work by car. Created by W Neill

Work out the number of employees who cycle to work and the number of employees who
walk to work.

This pie chart shows how the employees of a business travel to work.

Lpeple = 20
L people. Vi
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11 (a) Georgiais 4 feet 2 inches tall.
There are 12 inches in a foot.

Use the conversion, 1 inch = 2.5 centimetres, to convert Georgia’s height into metres.
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(b) Owen weighs 6 stones 4 pounds.
There are 14 pounds in a stone.

Use the conversion, 2.2 pounds = 1 kilogram, to convert Owen’s weight into kilograms.
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11 (a) Georgiais 4 feet 2 inches tall.
There arel2 inches in a foot.

Use the conversion, 1 inch = 2.5 centimetres, to convert Georgia’s height into metres.

b foot Dioches ( [ fieh, = 2 es >

X<O o/ 10 inches = 2Scm XS XSO
%\Xl‘lir\clﬁ )%'CSOQK\CL\QS _ ‘ZS_CW\ &
L\%I'ML‘QS + ?r'ncL\ES

&@o«rij i SOEnclﬂég ‘OOCM - kW\
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(b) Owen weighs 6 stones 4 pounds.
There are 14 pounds in a stone.

Use the conversion, 2.2 pounds = 1 kilogram, to convert Owen’s weight into kilograms.

w é) §Qones
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19 Ifsaw noticed this information on her car’s dashboard at the end of her journey.
szo She started her journey with a full tank of fuel and her miles travelled set to zero.

g vel on Il tan fuel.
T — (a) Work out how far Ifsaw’s car can travel on a full tank of fuel

FUEL

empty full

() O miles [3]

(b) What assumption have you made when answering part (a)?




Q\\X% Ifsaw noticed this information on her car’s dashboard at the end of her journey.

Created by W Neill

szo She started her journey with a full tank of fuel and her miles travelled set to zero.

MILES TRAVELLED 165

FUEL

(a) Work out how far Ifsaw’s car can travel on a full tank of fsuel.

e

- SSm.‘\ag X s
L)X& ’Eﬁﬁ/

— @ (‘P @O/ ........... miles [3]

(b) What assumption have you made when answering part (a)?

el consumobion...r emains. Conskant EC 166[ ___________
is vsed gt o lﬁﬁ@reanﬁfsoﬂéma%omfj ............ -
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10 4 people take 3 hours to paint a fence. Created by W Neill
R2J0 Assume that all people paint at the same rate.

(a) How long would it take one of these people to paint the same fence?

(@) hours [1]



10 4 people take 3 hours to paint a fence. Created by W Neill
Assume that all people paint at the same rate.

(b) How long would it take 5 people to paint the same fence? °
Give your answer in hours and minutes.

[+ RR——— IOUIS wevrvimannvasy minutes [4]



10 4 people take 3 hours to paint a fence. Created by W Neill
szo Assume that all people paint at the same rate.

(a) How long would it take one of these people to paint the same fence?

| bopaple = TSP ),
!'LX <) \Pz(goﬂ l \2‘/\( .

(@) T hours [1]



10 4 people take 3 hours to paint a fence. Created by W Neill
Assume that all people paint at the same rate.

(b) How long would it take 5 people to paint the same fence? °
Give your answer in hours and minutes.
[lly i

Z\,()@opl@ = ?sl\f'S
(b s (@ D Jei
= = \ngsof\ % 720"“"“) c

(b)

XS C) SP@oPl@ ~ Ittumfm(,

............... hours ............... minutes [4]
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22 Hector can run 400 metres in 66 seconds.

(a) Use this information to show that he could run 5 kilometres in less than 14 minutes. [4]

R26

(b) Hector tries to run 5 kilometres in less than 14 minutes.

Give one reason why he might not achieve this.
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22 Hector can run 400 metres in 66 seconds. S-

(a) Use this information to show that he could run 5 kilometres in less than 14 minutes. [4]
R26 KLOOW‘ = 5§ cecendss
’,U g [OO " = ]BS 5 Gl %ZS Sels

> = '17PM|'/')
K>O C) Soo0m = gzggec lg >
o (375 = “—tfm{f\

(b) Hector tries to run 5 kilometres in less than 14 minutes.

Give one reason why he might not achieve this.
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14 30 people choose their favourite sport.
Matt wants to show their choices in a pie chart.
P10 4 of the people chose ‘tennis’.

R26
Work out the angle of the sector for ‘tennis’.



Video created by W Neill

14 30 people choose their favourite sport.
Matt wants to show their choices in a pie chart.
P10 4 of the people chose ‘tennis’.

R26
Work out the angle of the sector for ‘tennis’.
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23 This map shows part of a village.

Neil knows that Packer Street is 180m long in real life.

(a) Neil measures the map.
He says

Packer Street is 3.5cm long.
High Street is 11.2 cm long.

Therefore, I calculate that High Street is 576 m long in real life.

Use Neil’s figures to show that the answer to his calculation is correct.

[3]

Video created by W Neill



23 This map shows part of a village. Video created by W Neill

Neil knows that Packer Street is 180 m long in real life.
(b) Jodie measures the same map.

She says

I think Packer Street is longer than Neil's measurement of 3.5cm.
Therefore, High Street must be longer than 576 m in real life.

Is Jodie’s reasoning correct?
Show how you decide.



23 This map shows part of a village.

Neil knows that Packer Street is 180m long in real life.
—_—

(a) Neil measures the map.

He says

Packer Street is 3.5cm long.
High Street is 11.2 cm long.

Therefore, I calculate that High Street is 576 m long in real life.

Use Neil’s figures to show that the answer to his calculation is correct.

[3]

Video created by W Neill
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This map shows part of a village. Video created by W Neill

Neil knows that Packer Street is 180 m long in real life. l/
(b) Jodie measures the same map.

She says
I fhinléacke.r' Street is Ionger')fhan Neil's measurement of 3.5cm.
Therefore, High 5Treef must be longer than 576 m in real life.

Is Jodie’s reasoning correct? /\/0/ {% i‘(j PN |zyn¢3£/ ti-,..r,r\ Z 'SCM (_,/L\Q

Show how you decide.



(b) g is directly proportional to r.
q is 68 when ris 20.

Work out g when ris 25.
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(b) g is directly proportional to r. _ _ [%
q is 68 when ris 20. CL - g .
Work out g when ris 25. - g = € o
= SUxX25p <Y
o s s

Cic( =
q - Kra
L& - k20
- A S
24 =K
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6

1kg = 2.2 pounds
Change 319 pounds to kg.

Created by W Neill

(Total for Question 6 is 2 marks)
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6 1lkg=2.2 pounds

Change 319 pounds to kg.

H/( = 22 ouncl _
m%‘( ST Vs S

\ Lkg Kol E\ q‘ {{}ou(d;gal(far Question 6 is 2 marks)
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10 400 g of raspberries and 300 g of strawberries cost a total of £7.46
500 g of strawberries cost £4.10

Work out the total cost of 200 g of raspberries and 200 g of strawberries.

(Total for Question 10 is 4 marks)
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10 400 g of raspberries and 300 g of strawberries cost a total of £7.46

(5007 of strawberries co@

Work out the total cost of 200 g of raspberries and 200 g of strawberries.
o

o 9099 strawb = £L10 Y . 00q R+ 2004 <
Jbi’ (003 i = éo-’z22Lg N o g
/%3 #2950 + Z1.6k

&00312 4*30033 :ﬁ/7-46 /5 .
@ t {2ub = #1744 ¢

. LrOOjQ = éS-OQ :

.

Gy

(Total for Question 10 is 4 marks)



16 The accurate scale drawing shows a tree and a wall. MIEERSE EER e Sl

R26

15 feet

wall

The tree 1s 15 feet tall.
The tree and the wall are drawn to the same scale.

Find an estimate for the height. in feet. of the wall.

(Total for Question 16 is 2 marks)




16 The accurate scale drawing shows a tree and a wall. MIEERSE EER e Sl

Re6 \rze =5 ’S/FZ(ZE 7 SCWD
\,uqll > S«(é@k’ 2-5¢m

>

15 feet

wall

The tree 1s 15 feet tall.
The tree and the wall are drawn to the same scale.

L\V"é \fe’efr\/

S _______________ feet

(Total for Question 16 is 2 marks)

Find an estimate for the height. in feet. of the wall.
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28 Cars are made 1n a factory for 24 hours every day.

N28 n the factory a car 1s made every 209 seconds.

R26 .a) Work out an estimate for the number of cars made in the factory in one year.

You must show how you get your answer.

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

(1)
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28 Cars are made 1n a factory for 24 hours every day.

700
N28 [n the factory a car is made every 209 seconds.

R26 rowmd _ _
.a) Work out r the number of cars made in the factory in one year.

You must show how you get your answer.

Sec In a O\q )
Ay X 6O ><’oO Dq~3 . % s é_OO cars X ixOOoqu

s
Q,u :uu < (60000

. _ 2 .
z (N
mf %bl«oOsec 432 car

WG dqj . dqj o gES _________________ 160 OOO

(b) Is your answer to part (a) an underestimate or an overestimate? (00 000 ~ 200 po-

: 4 rd
Give a reason for your answer. { {_ T
; &Hwé/' as | rounded
L{SZ csrs Aowon

Q’ld 36? O{%:jj up \/
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14 Abi 1s going to buy ingredients to make 65 hot chocolate drinks.

She needs 12 g of chocolate powder and 5 marshmallows to make each drink.

Abi can buy
chocolate powder 1n 250 g jars at £2.99 per jar
R26 marshmallows 1 bags of 120 marshmallows at £1.45 per bag

N13
work out the total cost of the chocolate powder and the marshmallows she needs to buy.

(Total for Question 14 is 4 marks)




Video created by W Neill
14 Abi 1s going to buy ingredients to make 65 hot chocolate drinks.

She needs 12 g of chocolate powder and 5 marshmallows to make each drink.

Abi can buy
chocolate powder 1n 250 g jars at £2.99 per jar
R26 marshmallows 1 bags of 120 marshmallows at £1.45 per bag

N13
work out the total cost of the chocolate powder and the marshmallows she needs to buy.

Choc Powder mC,rgL\ \ L{
Aein -
o drink 6
el 9t g (5 2 des
7{{03 bb cAeinlds a6 +(.39
750 240 Bbqj thiag _

50 O X £7.99 ,
’}ZSSO G % [ I q% (Total for Quebss;ion 14 is 4 marks)
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25 On Monday 4 bricklayers took 3 hours to lay a total of 4200 bricks.
On Tuesday there are only 2 bricklayers.

R26
Work out how many hours 1t will take the 2 bricklayers to lay a total of 3150 bricks.

(Total for Question 25 is 3 marks)




25 On Monday 4 bricklayers took 3 hours to lay a total of 4200 bricks. e
R26 In Tuesday there are only 2 bricklayers.

Work out how many hours 1t will take the 2 bricklayers to lay a total of 3150 bricks.
|1 BL = lhe = SO brick;
L,%L Eook BL\{S Ao Q?OO bricks 2"@{/ . “ﬁr - 700; !:)ﬁ‘(i()

J WS | x

XLk'\F EISO br{ckg
“\r '4 Q.{L\rs & G_ghfj

f. g [E[— Fock 3hes do |OSObricks
QL Lok The do 3S0brcks

_________________________ L&b hours

(Total for Question  is 3 marks)
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15 A tank contains 4500 litres of water.
Water flows out of the tank at a rate of 1.2 litres per second.

R26
How many minutes will 1t take for all the water to flow out of the tank?

_______________________________________________________ minutes

(Total for Question 15 is 3 marks)
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15 A tank contains 4500 litres of water.
Water flows out of the tank at a rate of 1.2 litres per second.

R26 : g -
How many minutes will 1t take for all the water to flow out of the tank?

00 _
- e

2750 - 40 = min

62 S minutes

(Total for Question 15 is 3 marks)




Video created by W Neill

17 5 tins of soup have a total weight of 1750 grams.
4 tins of soup and 3 packets of soup have a total weight of 1490 grams.

Work out the total weight of 3 tins of soup and 2 packets of soup.



Video created by W Neill

17 5 tins of soup have a total weight of 1750 grams.
4 tins of soup and 3 packets of soup have a total weight of 1490 grams.

\QOO%
Work out the total weight of 3 tins of soup and 2 packets of soup.
Rbies = 330
\ = -
280

lj_?_"_!}_ g S Dc;cl(é {'
SIT750 | LEns = 4 X3S0 0<Q

“ a0y 2pedits = 0q

{ bin 2 3503 250
ra 4 &mwsqj [0S0
| Qaclet- .@oq 6 O

1+ 00 0

k I IO g oo SERNAS




Video created by W Neill
10 Suha 1s going to buy 150 envelopes.

Here is some information about the cost of envelopes in two shops.

Letters2send Stationery World

Pack of 25 envelopes for £3.49 Pack of 10 envelopes for £2.10
Buy 2 packs get 1 pack free

Suha wants to buy the envelopes as cheaply as possible.

Which shop should Suha buy the 150 envelopes from?
You must show how you get your answer.



10 Suha 1s going to buy 150 envelopes.

Video created by W Neill

Here is some information about the cost of envelopes in two shops.

Letters2send
Pack of 25 envelopes for £3.49

Stationery World

Pack of 10 envelopes for £2.10
Buy 2 packs get 1 pack free

Suha wants to buy the envelopes as cheaply as possible.

Which shop should Suha buy the 150 envelopes from?

You must show how you get your answer.

LB 25 = £349
)

xb

Y150 = 704

SwW

O envelopes. < ’é?-lO
10 "\ - -f(.»,-'ZC}

30 n g éh.zo
XS -
<J (SO = £2| 2"5

SL\Ouid [3'3 .Fom ng/




Jane wants to buy 15 tomatoes.
She asks for 1 kg of tomatoes at a shop.
Jane assumes that each tomato has a weight of 75 g.

Created by W Neill

(b) (1) If Jane’s assumption is correct, will she get 15 tomatoes?
You must show how you get your answer.

(1) If Jane’s assumption is not correct, could she get 15 tomatoes?
Justify your answer.

(Total for Question 4 is 6 marks)




Jane wants to 15 tomatoes. l oy = 100 s eresnans s
She asks fof tomatoes at a shop. 3 j g

Jane assumes that each tomato has a weight of 75 g.
—:-—_'_:,_"-_._.—_— ——

(b) (1) If Jane’s assumption is correct. will she get 15 tomatoes?
You must show how you get your answer.

—

753 XS = HZSj - i.lzskj

S tomatoes - Ry
So H(j will be less then | Eomaloes

(11) If Jane’s assumption is not correct, could she get 15 tomatoes?
Justify your answer.

....................... She Mau acl (S tomdoes o the weishal &S
59 R -
_________________________________ %h94755 ‘?3 65 ‘:-[SGQM%(‘@@-S':9753

(Total for Question 4 is 6 marks)
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12 2.5 kg of apples cost £3.60

Work out the cost of 3.5 kg of apples.

(Total for Question 12 is 2 marks)




Created by W Neill
12 2.5 kg of apples cost £3.60

Work out the cost of 3.5 kg of apples.

| 0.5k = £340 \
e C H%: 14l L):Z-x

X’S'§<> S-Sy - 1504 )ng : SO

(Total for Question 12 is 2 marks)
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8 3kg of meat costs £54
RZ b Nina buys 2kg of the meat.

Work out how much Nina pays.

(Total for Question 8 is 2 marks)




Video created by W Neill

8 3kg of meat costs £54 \
Rz b Nina buys 2kg of the meat. g

Work out how much Nina pays. ’3 ) 5—@

(Total for Question 8 is 2 marks)



Video Created by W Neill

6 Sue has 2 cats.

| .
R4a Each cat eats — of a tin of cat food each day.
R26 4

Sue buys 8 tins of cat food.

Has Sue bought enough cat food to feed her 2 cats for 14 days?
You must show how you get your answer.

(Total for Question 6 is 3 marks)




Video Created by W Neill

6 Sue has 2 cats.

R4a Each cat eats L of a tin of cat food each day.

R26 4 ¢ ( Ec‘(\ = QOIQ:&S
Sue buys 8 tins of cat food. g— 'Z/SE‘( 5= u) o‘ijs

Has Sue bought enough cat food to feed her 2 cats for 14 days?
You must show how you get your answer.

\ Yes,gue {f]q§
Vi ks /q an C/‘qc(/) bOVJM @noujlq

\> t/tt{/[{& F‘(/:Z(:frf\@%r:h OIQj '/
| Fin last 2dage

(Total for Question 6 is 3 marks)
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23 It would take 120 minutes to fill a swimming pool using water from 5 taps.

(a) How many minutes will it take to fill the pool if only 3 of the taps are used?

R26

______________________________________________________ minutes

(b) State one assumption you made in working out your answer to part (a).

(1)

(Total for Question 23 is 3 marks)




Video Created by W Neill

23 It would take 120 minutes to fill a swimming pool using water from 5 taps.

(a) How many minutes will it take to fill the pool if only 3 of the taps are used?

R26 VO wia = S&Ps .
s D S

{)OOW“I“ * \fqp >
;'B () 2OOM:{\ %EQPSL XS _________________ QOO _____________ minutes

(b) State one assumption you made in working out your answer to part (a).

.,,.,..(SqH,(;;PS,,.,pDUf,.chefq{'ﬁh@,,.,S?M@,,SleEU{-,

(Total for Question  is 3 marks)




Video Created by W Neill
8 A map has a scale of | cm to 14 km.
On the map, the distance between Manchester and London is 18.8 cm.

R16
R26 Vhat 1s the real distance, in km. between Manchester and London?

(Total for Question 8 is 2 marks)




Video Created by W Neill

8 A map has a scale of | cm to 14 km.

R16

R26
What 1s the real distance, in km, beT'een Manchester and! [ﬁ}\?d n’?
VW

(mo =
X|€-%

On the map. the distance between Manchester and London 1s 18.8 cm.

PURY
> l%-%cmf— QE%Q\VM

3L

Km

(Total for Question 8 is 2 marks)



17 Adrian 1s going to make concrete.
He 1s going to use

R26 180kg of cement
375kg of sand
1080kg of stone

Video Created by W Neill

1 bag cement

| bag sand

1 bag stone

25kg

22.5kg

50kg

Cement. sand and stone are sold in bags.

Adrian already has

10 bags of cement
20 bags of sand
20 bags of stone

Work out what bags he needs to buy to make the concrete.

(Total for Question 17 is 3 marks)




17 Adrian 1s going to make concrete.

He 1s going to use

R26

180kg of cement ./
375kg of sand "
1080kg of stone

Video Created by W Neill

Cement. sand and stone are sold in bags.

Adrian already has

10 bags of cement
20 bags of sand
20 bags of stone

Work out what bags he needs to buy to make the concrete.

1 bag cement | bag sand 1 bag stone
25kg 22.5kg |F 50kg
X0 = 2506 X 20 X 20
= 430key | = 000Ky
€ﬂ0‘j I/-) cno UJL\
ﬁf@d% 80 Kj
need 2 bijs O)\L

S&me

2 bqgs of- stone |

(Total for Question 17 is 3 marks)
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8 2 pens cost £2.38

5 folders cost £5.60
N13

R26 Ben wants to buy 20 pens and 20 folders.
He only has £50

Does Ben have enough money to buy 20 pens and 20 folders?
You must show how you get your answer.

(Total for Question 8 is 4 marks)




Video Created by W Neill
8 2 pens cost £2.38

5 folders cost £5.60
N13

R26 Ben wants to buy 20 pens and 20 folders.
He only has £50

Does Ben have enough money to buy 20 pens and 20 folders?
You must show how you get your answer.
Po\ders

fens .., 2 pens = Z?Z&>XO x@(s folders = £S; 60@)@

Y70 foldes =f77.
" Zoms = £2%.80 Tores Hiho
- o \/és Eéﬂ hc:S’ C«?ﬂa/jl)
o0t | (S :‘_ézz 0 as ﬂéZO <1,ZSO/

m (Total for Question 8 is 4 marks)
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24 Lara is a skier.

She completed a ski race in 1 minute 54 seconds.
R26 The race was 475m in length.

Lara assumes that her average speed 1s the same for each race.

(a) Using this assumption, work out how long Lara should take to complete a 700 m race.
Give your answer in minutes and seconds.

. minutes ... seconds
(3)

Lara’s average speed actually increases the further she goes.

(b) How does this affect your answer to part (a)?



_ ) Video Created by W Neill
24 Lara 1s a skier. b 0O
She completed a ski race in 1 minute 54 seconds.

R26 The race was 475m in length.

Lara assumes that her average speed 1s the same for each race.

(a) Using this assumption, work out how long Lara should take to complete a 700 m race.
Give your answer in minutes and seconds.

as G A7 et s
X000 7200m = [LRseands 2 LR s

o minutes .

Qmif\ 3

Lara’s average speed actually increases the further she goes.

(b) How does this affect your answer to part (a)?

______________________________________________________________ Gvider £
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9 Yesterday it took 5 cleaners 4% hours to clean all the rooms in a hotel.
There are only 3 cleaners to clean all the rooms in the hotel today.
Each cleaner 1s paid £8.20 for each hour or part of an hour they work.

How much will each cleaner be paid today?

(Total for Question 9 is 3 marks)
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: 1 :
Yesterday it took 5 cleaners 4; hours to clean all the rooms in a hotel.

There are only 3 cleaners to clean all the rooms in the hotel today.

Each cleaner 1s paid £8.20 for each llOl@ey work.

How much will each cleaner be paid today?

(Scl@aners = 4 SM‘S)XB

)

S [ clesner = 22 e
)=z

S 9 Scleaners /-Sha L
Faid > £820 X Shes =

—

(Total for Question 9 is 3 marks)
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Video created by W Neill

19 (a) Use 8km/h=5mph toconvert 96 km/h to mph

074 [2 marks]

Answer mph
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19 (a) Use 8km/h=5mph toconvert 96 km/h to mph

RZb
e Nl %Km/(f\ SMPL‘l \

\i“ > bkl = Omply ©

-

Z 196

[2 marks]

Answer 60 W‘[P [/\ [//
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11 A television channel shows 12 minutes of adverts in each half hour.

R’ZE How many minutes of adverts does it show from 5 amto 11 pm?
[3 marks]

Answer minutes
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11 A television channel shows 12 minutes of adverts in each half hour.

RQB How many minutes of adverts does it show from 5 amto 11 pm?
[3 marks]

i = Hﬁm - éL\KS sz}n = ’/2/'\(‘

lam - llpm = [2hss 1¢ Zhomin = he 3 g
“Bhrs D 432w =[8hr €

L2 2 e
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15 5% of a number is 31

1% of the same number is 6.2
R26

Work out 13% of the number.
[3 marks]

Answer




15 5% of a number is 31

1% of the same number is 6.2
R26

Work out 13% of the number.

5/ s

'_S(—B s
3< /1S

Video created by W Neill

62){)@ - 206
Ll 2% B0

[3 marks]
®] . .
;>f5 62

LS
;>X@> € &

620

g 06

Answer QG . é i
4
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R26

Use

2 gallons = 9 litres

to convert 17 gallons into litres.

Video created by W Neill

[3 marks]

Answer

litres
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R26

Video created by W Neill

Use 2 gallons = 9 litres to convert 17 gallons into litres.
[3 marks]

rd QTJQ\AO”S = q Lx%l”@g N\

X ( () X%

N D \’ l L_’
> baallons = 72 Llbyes +

[tqjc;{lon = LS Lbres

Answer 76 i g / litres
v
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5 2.5 kg of carrots cost £1.70

R26 Work out the cost of 3.25 kg of carrots.

N13 [3 marks]

Answer £
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5 2.5 kg of carrots cost £1.70

R26 Work out the cost of 3.25 kg of carrots.

N13
DB = 270 N
2.5 | = S
= NG = fods
LS 8-25% = £2.921 ¢ XR2S

|

Answer £ {/22( /

v
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14 2 people working at the same rate will take 6 hours to paint a room.

14 (a) Assuming that they all work at this rate,

how long will it take 3 people to paint the room?
R26
[2 marks]
Answer hours
14 (b) In fact, the third person works at a faster rate.

How does this affect the time to paint the room?
[1 mark]




14
14 (a)
R26

14 (b)

Video created by W Neill

2 people working at the same rate will take 6 hours to paint a room.

Assuming that they all work at this rate,
how long will it take 3 people to paint the room?

= bh
2 ( L peple - ‘%h”c)
\p{/SOr"\ = s >
X3 g’gpeop!e, = Lhes €

Answer A'Jﬂ (S hours

[2 marks]

In fact, the third person works at a faster rate.

—_—

How does this affect the time to paint the room?

[1 mark]

{éSS éime Eo pc;an H”é féomw/




30

R26

y is inversely proportional to x.

Complete the table.

Video created by W Neill

[2 marks]

12
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30 y is inversely proportional to x.

Complete the table.
ReO [2 marks]

y ¥, 4 8 /
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9 In this question, use
1 foot = 12 inches
R26 1 inch = 2.5 centimetres

Change 5 feet 8 inches to centimetres.
[3 marks]

Answer cm
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9 In this question, use ( Ilnd\ : 2’5“4 Q )dq;.g
1 foot = 12 inches X‘{o& - ég‘mcL‘,S = s

R26 1 inch = 2.5 centimetres
Change 5 feet 8 inches to centimetres.
[3 marks]

S ) O inches + K incheg
X\ = 60[0(%@5 - bX inches

w1 70 A -
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6 The cost of 3 calendars is £18

R26 Work out the cost of 5 calendars.
[2 marks]

Answer £
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6 The cost of 3 calendars is £18
R26 Work out the cost of 5 calendars.
[2 marks]
/A calenders - %(8
2D | calender = £6 S > xS

Answer £ ?)O P
v




Video created by W Neill

7 A helicopter blade does 3206 full turns in 7 minutes.
Work out the number of full turns per minute.

R26 [2 marks]
N11

Answer
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7 A helicopter blade does 3206 full turns in 7 minutes.
Work out the number of full turns per minute.
R26 [2 marks]
N11
[
; ) ' Lo
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R26

Lucy works for 37 hours per week.

Her weekly wage is £303.40

She receives a pay increase of 25p per hour.

Work out her new weekly wage.

Answer £

Video created by W Neill

[2 marks]
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S Lucy works for 37 hours per week.

Her weekly wage is £303.40
R26

She receives a pay increase of 25p per hour.

Work out her new weekly wage.

340
__,ﬁo N :;g.zo

g kS x 37 =

e ¢ ON26S

[2 marks]
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11 (b) Convert 210 millilitres to fluid ounces.

Use 1 fluid ounce = 28.4 millilitres

R26
N26

Give your answer to 1 decimal place.
[2 marks]

Answer fluid ounces
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11 (b) Convert 210 millilitres to fluid ounces.
Use 1 fluid ounce = 28.4 millilitres

R26
N26 Give your answer to 1 decimal place.
[2 marks]

X7. 241 /~lovne = £3Leml )« D RGL R
59 > S

F oD T ot

Answer _7 ’ (—% fluid ounces




24 The diagrams show the position of a tap when off and fully on. VieenieremERib IRl

The tap is fully on when the angle of turn is 180° Off Fully on

R26 l N

180ﬂ
o
When fully on, water flows out of the tap at 14 litres per minute.

[ ——

The rate at which water flows out is in direct proportion to the angle of turn.

The tap is turned 135°

The water flows into a tank with a capacity of 79.8 litres.

135°"
\\, Will it take less than 7% minutes to fill the tank?

You must show your working.  [4 marks]

P



24 The diagrams show the position of a tap when off and fully on. VieenieremERib IRl

The tap is fully on when the angle of turn is 180° Off Fully on

R26 l N

180ﬂ
o
) : 0
When fully on, water flows out of the tap at 14 litres per minute.

|'[','€ = (@O
Ry 0 L)flﬁo

[ ——

-\%0

The rate at which water flows out is in direct proportion to the angle of turn. g

The tap is turned 135° ,.( 2 |
X\ L \OSL: (gSOLXfSS

!
e The water flows into a tank with a capacity of 79.8 litres.
|
: \
135° S ’
\ Will it take less than 7% minutes to fill the tank? |07 L il
You must show your working. [4 marks] \O S K 7 -5_ — 78’ 75 Lkrb’f’_s

: f -
Vo, Foll bt mare b fogy. " 7"
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Video created by W Neill
Amal drives her car for work.

She claims 40p per mile from her employer.

Amal’s car travels 52 miles for each gallon of petrol.

She pays £5.36 per gallon for petrol.
On one journey Amal drives 260 miles.

For this journey, how much more does she claim than she pays for petrol?

[4 marks]

Answer £
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16 Amal drives her car for work.

She claims 40p per mile from her employer.

Amal’s car travels 52 miles for each gallon of petrol. / = Uéés

e S gallons

She pays £5.36 per gallon for petrol.

On one journey Amal driveg 260 miles.

For this journey, how much more does she claim than she pays for petrol?

Clews... 260X 2040 ) Uses & X o,
= £04 = 77680

[4 marks]

04 -16§0

Answer £ 7 7 2 O /
e d
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17 Here is a map of Cuba.
1.5 cm represents 200 km
R16 g
Havana
0 200 km
| |

Work out the actual distance from Havana to Holguin.
[3 marks]

Answer km
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17 Here is a map of Cuba.

1.5 cm represents 200 km

R16 1S cen = 200K
X 4 Y,
Havana &'7&0 545 () |

—
—

L

Work out the actual distance from Havana to Holguin.
[3 marks]

bOO 640

o bet
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14 In this question, use

A2

1 kilogram = 2.2 pounds
1 stone = 14 pounds

Change 70 kilograms into stones.

[3 marks]

Answer stones
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14 In this question, use

RQ‘L’ 1 kilogram = 2.2 pounds ‘dﬁpne - ((k padﬂd 5 g 'd
1 stone = 14 pounds XH 6 [ S(-k Pomd S

Change 70 kilograms into stones.

I Ko = ?,2 Fo [3 marks]
o (3 70
S 70Ws = TS powndls

Answer stones
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6 The cost of 3 calendars is £18

R26 Work out the cost of 5 calendars.
[2 marks]

Answer £
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6 The cost of 3 calendars is £18
R26 Work out the cost of 5 calendars.
[2 marks]
/A calenders - %(8
2D | calender = £6 S > xS

Answer £ ?)O P
v




Video created by W Neill

12

force
pressure =
R25H area

A force of 40 Newtons is applied to an area of 3.2 square metres.

Work out the pressure.

Give the units of your answer.

P ) (‘{9 [2 marks]

(essue. R

Answer l 2 S N / fVl_/L
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10 The pie chart shows information about voters in an election.

o
g}ig Voters %OD mer\ & HO i
Women = 2SO

Men

0
o . More > HJ(O = ’B%O UOEE’S).
14 %
14\ lOO

L)x%

—
-—

3360men voted than men.

Work out the total number of voters.
[3 marks]

Answer 8éqo iu/
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R2b

Liam drives his car.

He drives the first 9 miles in 9 minutes.

He then drives at an average speed of 70 miles per hour for 1 hour 36 minutes.

He finds this information about his car.

Average speed

Miles travelled per gallon

65 miles per hour or less

50

More than 65 miles per hour

40

Video created by W Neill

Use the information to show that his car uses less than 3 gallons of petrol for the drive.

[5 marks]



17 Liam drives his car. Video created by W Neill

Ru He drives the first 9 miles in 9 minutes. D
RZB He then drives at an average speed of 70 miles per hour for 1 hour 36 minutes. 5 .—[—

~perhr
He finds this information about his car. _E,E;.—_—

Average speed Miles travelled per gallon gé A = d €C: me, ]
65 miles per hour or less 50 {-;OM;'\ & [ he
More than 65 miles per hour 40 6,.,, ‘n = 0O l
Use the information to show that his car uses less than 3 gallons of petrol for the drive. 3&;«—«.(4 = O- (_J

Mk Spead - Gmles :c[m-'f\ 3 QOMJles s (ﬂﬁuoﬂ . “nr Sbmea
Lomles = bOmin [‘g Y Lo HQWS

(nm{& nad
bOmph X Jran
Lo I i = B &
<0 gSONHIE-& = 134“‘”\ Q{SO lzmlzg = 28@%”%5.

{mile = )
C (5 S . O'(gi\ ﬁ)><cl Totsl \\oumea —;’2-%3{,0,@3 Tsn:azrkjg

2 2R
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15 machines work at the same rate.

Together, the 15 machines can complete an order in 8 hours.

3 of the machines break down after working for 6 hours.

The other machines carry on working until the order is complete.

In total, how many hours does each of the other machines work?

Answer

Video created by W Neill

[3 marks]

hours
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25 15 machines work at the same rate.

Together, the 15 machines can complete an order in 8 hours.
) Dhes lefi

3 of the machines break down after working for 6 hours.

The other machines carry on working until the order is complete.

In total how many hours does each of the other machines work?
[3 marks]

ISmachines = 2hes, B 20 L
)le /? :2//2

N ]chh{n(f, o 30‘1(3 ‘
)

A

Xl <§ |2 machines = g & =

bhes 124 hes |
B4/ o




